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Flx)=11 il e
Tl’qﬁ-’x:'ﬁ_GTETmEZ,neNaﬂ'{gcdtm,n)=l'

%W ®H f(x) 8
@ 0w s

© owmt
©. aaaaw&aui%@ﬁ qzaqa:mﬁw%
a))..?ﬂﬁ‘ﬂﬁﬁ!ﬁﬁ§ﬁiﬂtafﬁﬁaﬁh1§
Consider a real valggd functiog F(x) as

0, if x=0 or x is irrational

) x — g I ! y 3
flx) ‘%, 1.fx=;';-1 where mez,n e N and ged (m, n) =1

Then, the function f(x) is

(A)  Differentiable at 0
(B) Not differentiable at O
(’C) Differentiable atl irrational points only

(D) Differentiable at all rational points -

-----------------------
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2. A AR f wh we f: R > REW x, y, ¢ R & foTT

Flx+y)=£(x) f(y) H g Fa }1 AR wer £ 0 W srHeEa @ D
@ f 3 o Fo et & ok fler=£' )

| B). £ %% ce R W R & 3 F(e) =10V e)

(© fEIEee zw aaam:ﬁa% 3R f'(c.);f'(O)f'(c)

o F¥Rce zw aqmm% aﬂ;"f"<c)=f’ (0)f' ©)

'_Let a funétidﬁf: RA -> 11?. satisfies f(x+y);f(yg) f(y) for.all

%, y € R.If fis differentiable at 0; then

(A) fis diffe'rent'iable‘ at every._c e R and f'r(C). =f'(0) f(c) | |

(B) fis‘differenfiaﬁle -at eVery ce R and f' (c)A=.f' (0)f (é)
(C)~ | fis differentiable atonly ce Z and f'(c) =.f' (O)f(c)

(D) fis differentjable at only ce Z and f'(c) i f' (O)f’ ()

3. .' gfe A={ILL(;:;]£; neﬂV}WSupAE’ﬂ'(IanW@?ﬁ% '

@A) 1,1% B) 1,0%
© 32,0% o 2-1%
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if A= {217 hen Suj '
——— ne€ N :then Sup A and InfA are equal to

@w L1 . ® 1,0
() %,o (D) %,—1
4. 'W351ﬁ7@ﬁwﬁaﬁ@m%aﬁﬁﬁnmwm%
@ 2 253 ® 3 .
© 6 “ D) 5

The last noh-negative remainder when 3°! is divided by 7 is |

@ 2 @ 3
Q) 6. Dy s
5. Q%ﬁéaﬁ-kwmérmélwhs-ﬁaanﬁﬁmaRn?ﬁaaﬁﬁ'
R & w R, @ s SR R R R
JIRC TR
N R o P
| 45 L 2l
(C) To24 “uirbi (D) pory

A coin is tossed k times. If fh_é probability of getting 3 heads is
equél to the probability of gettirig 7 heads, then the probability of

getting 8 tails is

' .5 | | 45
A) == | - B) —
512 | 2221 ‘

45 10

—_ . D). i
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6. mﬁm|3x|>|6-35c|$l3§f%

(A) -, 1] ® (Ll

© J-w-1{UlLel O ]'—oo,—lll‘J]-l,oo[,l'
The so'lutiq;'l of the inequality [3x | > 6 -3x| is

) 1-,«'»,1.1' o sl i L

"('C) \]"—oo,-l[ull,go[.-(D) ]—oo,—IIU]—,l,oo[

| 7. %o | log(x% —6xr6) w1 W 2
' (A) 'A]_°°’°°,[

B [0,

© 1-w3-/3 [U]3+43, |

(D) _‘]-—00,-1;[U[5,‘oo[

The domain of the function \/log(x* —6x+6) is |
W) =

® (0wl

(C) -, 3-43 [Uj3+J§,oo[ |

(D) ]—.oo,l[U[S,oo[
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10.

maﬁﬁgﬁsmwﬁmdwww,(an)gam%ﬁ n>1% fag

2 1. .
@y =2, =" 2+ #m Zyéo 'aj1+1 S
A 1% ' B 2%

© 3% . (D) FHADETE

- Let ~<an> ~ be the sequence of real number such that

a2 1

,1 ,

a;=2,a,,,= for n21. Then Z} 0 o7 isless than
; _ Jj .

@ 1 (B) 2

c 3 . ' (D) none of these

aﬁ%@ﬁﬁgaﬁgmsﬁﬁwés 5, 7%, a’rﬁaﬁmmﬁmm%

Wz B E
© 2 o

If the lengths of the sides of a triangle are 3, 5, 7; then the ‘largest’

angle of the triangle is

A -7 (B) 5—6"-
© F o 7

e x* - x% -2x?+3x-1=0% yeTeReh el Y Sfreha HEAT 2

A 2 B) 1

© 3 (D) 4
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The maximum number of positive roots of the equation

x? = x3 ~2x2+3x71 =0 is
@ 2 B) 1
© 3 o 4
11. Al a,p,y F'FﬁEF{'UT'x3+qx+r =0 % 4o §, al ZaBTi-YBY ?

2 2

i. ‘ol ¥

w = =
q ¥ . . : ) ‘

©. < O q%

If a, B, v ‘a're the roots’ of the equation ,x3+qx+r =0, then.

A

. 2
q Lo
@ = (B) g
| q o
© < br 2

() 10% . (B sd

© 147 '_ D) 7#
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A polygon with 7 sides can be triangulated into

(A) 10 | B) 5
© 14 o 7
13.  ww 22043%0,4%0,5%0 11" w17 ¥ ﬁmﬁm a1 ST ® @ ANEA R
g @ ?
(A 3 B) O
(C) 36 b BT (D) 2450

What is the remainder when 22° +330,44%045%50 41 17 is divided

by 7? .
@ 3 (B)“O
© 36 (D) 2450

14, g@el 1+ cosBcos0+cos? 0cos20-+cos> 0cos30+... T AT 7
(&) o SR - R
© 2 . (D) THASKTE

The sum of the series 1+cosOCOs6+c052ecos_26+coss900336+...

is | '
A 0 ’ - B) 1
c) 2 | . (D) none of these

15. Hﬁx+—1-=200s9'3?ﬁ‘x12+—1—'-351ﬂﬁ%
, x o o X2 |

@A) 2° cos1206 (B) 2cos686

() 2° cos 60 (D) 2 cos 126
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Al
If x +?= 2cos6, then the value of xl%y i %2 is 3
x ' '1
(A) 25 cos 120 (B) 2cos66 |
(C)  2° cos60 et @ ‘ (D) 2 cos 126

| 4 .2 2 1 -1 1 | |
16..1THTIOB=[—5 JaﬁIA[ 1-:ﬂ|wﬁ3,ana{6A$r

| 1 -2 3 11
IR, M
Hayt e P B ERTTE ity
- © 5 | (Df—z-

o T4 22 URTE RIS -
Let IOB=[—5 0O o ‘and A= 1 -3]. If Bis the inverse of
10 23] s 1_ 155 '

', ma'tri;i A.,. thénais e
@A) 2 ey " fB) -1
& e ."(D)} iy

17. % f(x)=[sinx], xe R oiwan &
") %ﬁanmmnw% |
B) m(4n+1)§ﬁr,aﬁnwﬁ% "
(c') ﬁnlaﬁi (4n+1)gm,aﬁnqgrfm% |
_(D) mré:ﬁT (2n+;)12‘-'qx, a—an@m%

¥
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The functi i e
Ion f(x) =[Slnx], X€ R has discontinuity at

(A) nn only, where n is integer

B T
(B) (4n+1) o) only, where n is integer '
. (C) nmand (4n+1)%, where nis integer -

(D) mt'and (2n+1)1,where nis integer
18. "Wﬁﬁ‘? Rﬁa<b%aﬂt fila b]—»(a b) w3, @

(A)  f TH-TH a m %

@ f s At

- © f@—@ﬁ m-@rm%
‘D) aﬁﬁaﬁé%"f |
Let a< bin ,.Ra‘nd Filablo(a b) is'coi__itinuc;us then
A(A) | fmay be e ® - firiay_be onto |
(C) fmay be one-one onto (D) none .of}tlrJlesve.

. 2 ~
19. [Te dx 1 9H 8

w & @

1
@ 3

s
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The value of I: e ™ dxis

w = ® i
T
@ 2 G

T . .
20. Io lC’g(l—.’?acose+a2)cosnG do,|a|<1HaAE

gt - - g™
) et o om
‘ —2ad - - 2na”
. =2xe op o

The value of I: log (1—2qcos9+‘a2) cosn®do,|a|<1is

T it 5 s el

- (A) Th (B) -
; —2na™ - | ; . 2ma
€)= e (D) > o

21. Wm%ﬁmﬁaﬂtﬁ'%ﬁ%ﬁémmg

@A) cos™ ® I
e T ] . 1'1
(C) 3 (D) Sin, ., 7_5
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23.

@A) flx)=x-1

| Tl z7 —523 11220 %lﬁﬁﬁﬁwwhaﬁﬁ |z| = 13Kk |zj =2%;

e fREE, e
@ . 3 s (B) 4 .

- The number of roots of the cquatlon 2z’ —5z +12 0 lymg between

the <:1rcles lz] =1 and |z] =2 is

CRE SN o D
c 7 - ‘ ’ : : D) o
f(x)—j; (x+t)'f(t)fdt";%_% mgag
(A) f(x) ,="€;1 e - (B) Cf(x)=x+1 |
(&0 f(x)h=3.c | (D) f(x)=-x+1

S

SE9%is

The solution of f(x) j (x+t) f(t)dt =22
B) flx)=x+1

© flx)= (D) _f(X)=-X+‘1.
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24, 'J.c3+px+qx+r=0} ¥ e i A F @ e, 3H?=ﬁ w8 ,

@ pr=¢° ® pa=r
© ¢r=p o a’p=1"
The condition that x3 .+px+qx+r=o should have 'iés roots in
G.P.is
(A) | p’r=q° B pa=r
© q°r=p° (D) q’p=
25.. %=3§:ose ............. Wuﬁﬁﬁ’ﬁim% |
(A) g9 (B) W
) dlaa (D) wfwEeE
lri = 3cos6 represents :
(A) Circle (B) - Parabola
A(C) Ellipse (D) Hyperbola
,_'f"7§'2"982‘ ! TSTMS/XI/11/ 1106 TET e




